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3.'/ x |20-25(25-30(30-35|35-40 |4
60-70 2 - - 2 04
70-80 3 3 2 - 08
80-90 1 2 1 2 06
90-100 - - 2 - 02

54 06 05 05 04 20

ENGLISH VERSION
1 Write answer at any four : 14

(1) Explain : Reression line.

(2) Explain : Stratified Sampling Method.

(3) Explain : 3o control limits

(4) Give the difference between variable charts and
attribute charts.

(5) Characteristic of a good sample — Explain.

(6) Explain systematic sampling method.

2 (a) Difference between Population study and 4
Sample study.

(b) The observation of a pop. are 2,3.4,5,6,8. How 3
many different samples at size 2, without
replacement and with replacement can be
taken from it ?
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(c) The observation of a pop are X;.X,,X,.X,.

How many different sample of size 2. with
replacement can be taken from it ? Preparing
a list of the samples and verify the following
result :

E(y)=Y.

3 (a) Explain : (1) Statistical Quality Control. 6
(2) Theory of runs.
(b) Sample are drawn at regular interval of time 8
from a production process. The values of ¥
and R are found out for a particular

characteristics. From 25 samples ¥ X =365,
¥ R =30 are found out. Obtain control limits

for ¥ and R charts. On the basis at these

limits, draw control charts and on them plot
the following values. Report on the state of
control of the process.

X |1425] 14.8 | 152 15 154 | 159 | 15.3 | 15.2
R 0.9 0.2 1.5 1.3 2.4 1.5 1.3 2

OR
3 (a) How are the limits of control charts 3
determined ?
(b) Write uses of ¥ and R charts. 3
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(¢) Draw the charts for average and range from 8
the following data. The number of observations
in each sample is 5. Give your report about
production process.

43 149 (37 |44 |45 |37 |51 |46 | 43 | 47
516 |5 |7|7]14 |86 |46

bnv] e

n= 10 for Ay= 0.5, D;=0, D=25
n= 5 for A,= 0.58, D;=0, D=2
2

n= 2 for Ay, = 0.25, Dy=1 D,=2
4 (a) What do you mean by defects per unit ? 6
Discuss the chart based on number of defects
per unit.
(b) Draw P chart for the following data. 8

By giving reason state whether the process is
under control or not.

Observed items | 200 | 200 | 200 | 200 [ 200 | 200 | 200 | 200 | 200 | 200
Defective items | 8 12 2 20 | 10 15 6 20 | 13 8

OR
4 (a) What is fraction defective ? Which control 4
chart is drawn for fraction defective ? Give its
control limits. Also discuss its working.

(b) The following tables gives the number of
defective items found in 10 successive samples 7
of 100 items each.
2,6,2,4,4,18,0,9,10,18, construct a suitable
control chart and state your conclusion.
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(¢) Draw appropriate chart : 3
Radio number |1 |2 3[4 [5]6|7 9110|1112
Defects 418|6(2 312 61597
5 (a) Explain @ by and bx}_ 4
(by Why there is two regression lines ? 4
(¢) Find both regression lines. 6
x|218[9|-2|-5|-4
y|3|2|-h|10|-2]-3
OR
5 (a) Explain difference between co-relation 6

co-efficient and regression co-efficient.
(b) From the following data find regression lines. 8

y / x[20-25]25-30|30-35|35-40 | Total
60-70 | 2 - - 2 04
70-80 | 3 3 2 - | 08
80-90 | 1 2 1 2 06
90-100 | - - 2 - | 02
Total 06 05 05 04 20
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